Chem. 6A F2007 Quiz 8 (15 points) Name: ‘KEK—

Section:

1. (2 points) Nomenclature

(@) NHsNO>  Avawn pia L 0w v‘l\‘ -l-'\fa*t!- (b) iron (1) sulfate Fe. SO‘%

2. (3 points) Solutions of lead (II) nitrate and potassium iodide are mixed producing a yellow precipitate
of the lead compound. Write the balanced molecular equation, the total ionic equation and the net ionic
equation for the reaction. (include ali, (s), (1), (g) or (ag) where needed)
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3. (1 point) A reaction or physical process that releases energy is said to be: Em—,u_g,rm-{c__

4. (3 points) Ammonia is formed from the reaction below (unbalanced). If 5.0 grams of hydrogen and

5.0 grams of nitrogen react, how-many-gramsammmonie-willferm? LAt G Lua s

L Ha(g) +  Nag) > 2 NHs
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5. (3 points) The heat of combustion for methane is —890 kJ/mol. Calculate the amount of heat released
when 1.604 g of methane burn.
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